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Lme Dilations Practice
1. The line y =3x— 2 is dilated by a scale factor of 2 and centered at the or1g1n Write an

equation that represents the image of the line after the dilation. 17 ”M e 4& 7&/ ( 710 r C//lﬂ{ b
1) y=3x-2 M= )

2. The line é— Ix— —%As S dilated by a scale factor of 2 and centered at (-1,-5). Write an equation
that represents the image of the line after the dilation. -
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3. The 1ine"’j//= ——x+6/is dilated by a scale factor of 4 and centered at (2,5). Write an equation

- / < ;
that represents<he image of the line after the dilation. )70+ of ’9“0
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2) y=——x+24
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3) y==2x+6
4) y=-2x+24
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4. The line y = —5x+6 is dilated by a scale factor of 4 and centered at the origin. Write an

S

equation that represents the image of the line after the dilation.
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4) y=-2x+24
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5.Liney i},x}\/fs transformed by a dilation with a scale factor of 2 and centered at (3, &). The
line's image is : K .
1) y=3x-38 a )‘an) ‘* /
2) y=3x-4 I ﬁuc( /| U/

3) /J’/——'-—r"“\?
4) y=3x-1

6. The line y =2x-4 1s dilated by a scale factor of 5 and centered at the origin. Which equation

represents the image of the line after the dilation? o0 j" P
1) y=2x-4
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7. Line MN is dilated by a scale factor of 2 centered at the origin. If A is represented by

¥ = —3x+fi, which equation can represent M 'MW, the image of ME\I‘?

7 = —-3 +12
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4) y=-6x+6

8. Line MN is dilated by a scale factor of 2 centered at the point (0, &). If 44V is represented by

= ~3x+ 0, which equation can represent 4 'N ', the image of mwfbl- G »3}/}
= -3x+ 12 Saimt ety

2) ==3x+6

r=—fx+ 12
4) y=-6x+48
9. The line @s dilated by a scale factor of 3 and centered at the point (-1,-6). Which
equatlon»represents the image of the line after the dilation? 76_; .
Dy=dx-2" 3y y=12x—3 e i
2) y=4x-6 4) y=12x—-6 SoMl 250401

10. The line”y = 5x+5 ig dilated by a scale factor of 4 and centered at the point (4,7). Which

equation represents the image of the line after the dilation? ,70\} a/ 3”/)
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1) y=—x+20 3) y=2x+20 W ;
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2)y=—x+5 4) y=2x+5
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11. The equation of line /4 is 2x + y = 1. Line m is the image of line /4 after a dilation of scale

factor 4 with respect to the origin. at is the equation of the line m?
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12. The line2x+ 3y =8 is dilated by a scale factor of 3 and centered at the point (1,2). Which
equation Ws the image of the line after the dilation? —S;:L; oy Hd, "
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13. Line y—2x =4 is transformed by a dilation with a scale factor of 2 centered at the origin.

What is the equation of the line’s image? \ \
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14. The equation of a line is given by the equatiogd 2x + Ey;)rite an equation for the image
of the line after a dilation of 2 centered at (3,0). ‘ a} ‘L
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15. The equation of line /is y+2x =1. Line m is the image of line / after a dilation of 3 centered
at the origin. What is the equation of line m. —
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16. The line y=2x-lis w centered at (4,1). Which linear equation could be its image?

1) y=—2x43 WW 3) y:_lx_4
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éyy:2x+7 4) y=%x
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17. The line y 3 +3 is dilated centered at the or1g1n Which linear equation could be its

—

image? /‘)ﬂ 7/
1) 2x+3y=7 3) 3x-2y=7 "= f
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@2x 3y= 7 4) 3x+2y =17
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18. The line 3;73 2x + 8 is transformed by a dilation centered at the origin. Which linear

ti Id be it ? -
uazl"f;}f"i ‘ ‘“55“ ;53:; Sini shope }3_ Qxi%’
2) 2x-3y=35 v o
3) 3x+2y=35 — s
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19. The line represented by the equation 4y = 3x + 7 is transformed by a dilation centered at the
ﬁ
origin. Which linear equation could represent its image?
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20. The line - 37+ 4y = 8 is transformed by a dllatlon centered at the origin. Which linear
equatlon n could represent its image? -
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21. Line / is represented by the equation y =4x—1. Emely says that the equation of line / after a
dilation with a scale factor of 3 centered atl%fl_) is y =4x—-3.Is Emely correct? Explain your
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22. Josue believes that the image of y = gx +2 after a dilation of scale factor 2 centered at the

- 3 ;
origin is 3y =2x+6. Is Josue correct? Explain your answer. - -3(0) *
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23. Line n is represented by the equation/3x + 4y = 20) Determine and state the equation of line p,

the image of line n, after a dilation of scale factor — centered at the point (4, 2). [The use of the

set of axes below is optional.] Explain your answe:r. )T\_j—
25y 1dd = 3(4) +4(3) =3
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» A/Iig;h says that when the line 4x + 3y = 24 is dilated by a scale factor of 2 centered at the

point’(3;3), the equation of the dilated line is y = —%— x+ 16. Is Aliyah correct? Explain why.
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